S5 FE KBEBHR

HER

%&mﬂ/&—
BEWRL Y % —
HEER 8 A2H

<EBHE>

- gt 20 BER T, BXEFRL. EHEDRED o/,

- BIER 40 BR T, B EHEFFMTH OIS,

< EHE>

7T BOERRER. FEROSR THER LUZ (FFE+2.90),
« 7 BORKEE, EERDDED o2 CEELE 41%).

- 7 BOBREBEE, EELODZN o2 (GEFLE 159%).

@EFNT — %

5H 23 B8#&& ne AE

=

==}
FHOE £ H 6 H 23 H#iE HAEN :0.6kg/a ({brk 486 =)
BmHE 30 H(FE) iBAEN : 0.2kg/a ({bBk NK17)
WweHEDD (1T : BE 10 HEDFE)
- = A {8 = - Wk
bi=| 8 tesEER — —
XN £F Al & &F IS EOF
=] X (em) 36.3 37.8 37.0 -1.6 -0.7
4 | BB 208 | N
= -2 ] /) 347 440 363 79 % 96 %
ﬂﬁ = X (cm) 71.7 74.7 71.2 -3.0 0.5
s WiE% 408 | ]
= B @/ 528 482 534 109 % 99 %
HIVDE (R4 ENSFAERIAR)
=l X (em) 37.0 39.9 39.9 -3.2 -3.2
4 | BHER 208 | -
5 = 3} R/m) 306 398 398 77 % 77 %
ﬂﬁ =] X (em) 73.0 74.3 74.3 -1.7 -1.7
J | WiE% 408 | .
-2 ] /) 491 404 404 122 % 122 %
OET7—X
- B3 (cm) c00 28 (&F/m)
[z E
o 500 /
50 400
28 300
20 200
18 100
2 0HH 4088 208H 4 0HH L
mHTODE gHFEDD WebFE DD T4 =D ETVDE  —a=PHFEDD WD&HFE DD IFE




KTEEEAM IS 3 1T 5 kB

90
80
70
60
50
40
30
20
10

16

14

12

10

6/1

6/6

o

6/1

6/1

6/6

6/11

6/11

6/11

6/16

6/16

6/16

6/21 6/26

X\

6/21 6/26

3

6/21  6/26

H

7771

g
L

71
b

i3

7/6 7/11  7/16  7/21 7/26 7/31 8/5

mm [k B A FH(mm)

- - BEKEAF TEE(mm)

i.‘.’l"."[fr'. AT I

7/1

X E

7/6 7/11  7/16  7/21  7/26 7/31 8/5

B BRI (I )
- - BRI P (E ()

-
~ - e —-—
=~ Li---
-——_ e ——-—

771 /6
B H R

7/11 7/16  7/21 7/26  7/31 8/5

pl]



